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o YT T F A [F 5 -5 F FRT 7T 32 8

Please make sure that the printed this question paper are contains
32 questions.

o mT-yF 7 qied &R B AN RE T4 B T 7 A B G Fa-Yaiwl & JEF
g5 7 fored)
The Code No. and Set on the right side of the question paper should be
written by the candidate on the front page of the answer-book.

o FYT FHT F T TG YT F T TE, JT B 7% T [
Before beginning to answer a question, its Serial Number must be written.

o TR # 7 F G T T T 8
Don’t leave blank page/ pages in your answer-book.

o Fa-yiaw & dlarad #g o flic 7E Ao o Eagar 8 hd o kiar
g T B

Except answer-book, no extra sheet will be given. Write to the point and do
not strike the written answer.

o gherElf orgar T To FIT-9F YT T [ord
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Candidates must write their Roll Number on the question paper.
oy ge #F FAT a7 @ {@ 7' ghkaT &7 @ B waeT of 7 98 & o @
TYT §6 T F BiE o T e T8 B i

Before answering the questions, ensure that you have been supplied the
correct and complete question paper, no claim in this regard, will be
entertained after examination.

A 7397 -

General Instruction :
()  q T e &
All questions are compulsory.

(i) GAHTHTgTI2 WTE T B anasia q gokaqdae 1@ & :

This question paper consists of 32 questions in all which are
divided into four Sections: A, B, Cand D :

T 5T ET T 1 716 7% TA 16 W37 & FA9% FT 1 7% #7 81
Section A : There are 16 questions from 1 to 16, each of 1 mark.
= q . 57 @F § 17 721 7F F7 5 WA &, JGF 4T 3 o7F F 8
Section B : There are S questions from 17 to 21, each of 3 marks.
GqUE G : 57 GO F22 T 27 TF PT 6 FT & FAF JIT A 67F 7 &
Section C : There are 6 questions from 22 to 27, each of 4 marks.

G T 57 G F28 732 7% ZA 5 HT 3 AP T 5 GF 2
Section D : There are S questions from 28 to 32, each of 5 marks.

(i) &% & 7 & g9 7 oAeE [AEey /9 T4 81 T 7 @B g9 B G 8

Section D contains two questions where internal choice have been

provided. You have to choose one of them.

1903/(Set : C)



(3) 1903/(Set : C)
queg - 3
SECTION - A

1. 3¢ 135 X 225 $T HCF 45 8, @ 3961 LCM ¢ : 1

(A) 405 (B) 1125
(C) 675 (D) T | P& 7
If HCF of 135 and 225 is 45, then their LCM is :
(A) 405 (B) 1125
(C) BRES (D) None of these
2. 3x*-4-x% LIH ¢ : 1
4 4
A 11__ B = ],—
(A) 3 (B) =
4 4
C) -1,—— D) 1,—
(C) 3 (D) 5
The zeros of 3x% — 4 - x are :
4 4
A) 1—— B) P
(A) 3 (B) 3
4 4
C) -1--— D) 1,—
(€C) 3 D) 5

3. THEON ax+by+e, =0 @R apxibyte, =0 F AR LD 4

a, by ¢

feriferfas & S9-a1 g e ? 1
(A) oIfETE & (B) ®E & &l
(C) eruRfE &a (D) = q BB TE

g ! a b c
If in equations a;x+bjy+¢; =0 and a;x+b,y+c, =0, e s £ bd B

ag_bg exf

then which of the following is true ?
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(A) Unique solution (B) No solution
(C) Infinite solutions (D) None of these
1 1 = _
4. A.P. 13, 155, 18, QOE’ ......... H AT - 1

1

(A) 38 (B) 405

(C) f43 (D) 45%

‘ 1 1

11th term of A. P. 13, 155, 18, 20—, ......... is
1

(A) 38 (B) 405

-1
(C) 43 (D) 4:}E

5. 7 Bl A. P. ®1 1191 18 38 o} 1641 & 73 B, Al I6® Teal 0E & :

(A) 7 (B) 32

(C) -32 (D) -85

If 11th term of A. P. is 38 and 16th term is 73, then its first term is :

(A) 7 (B) 32

(C) P ea2 (D) -35
6. & T P ¥ DE ||BC T DB & 79  : 1

A
1.2 99t 1.8 3
A4 FH
B e
(A) 2.4 T (B) 4.8 Wl
(C) 1.8 T (D) 3.6 T
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In the given figure DE || BC, then the value of DB is :

A
1.2 ecm 1.8 cm
< D/\E S
/ Qd‘ -
B C
(A) 2.4 cm (B) 4.8 cm
(C) | 1.8 cm (D) 3.6 cm

7. B THEY FIYE & 8wl B U 4 : 5 B, @ I G Y] B ST €
1

(A) " 4:5 (B) _16:25
(C) 2:45 D) 5:4

Areas of two similar triangles are in the ratio of 4 : 5, then the ratio of
their corresponding sides is :

(A)\ 435 (B) 16:25
(C)| 2443 (D) 5:4

8. ¢ g9 & AT B fag P W 99 @ T ol T wet @ F e 15 A
ARgmA s, ARgPA T I agh 8
(A) 7 T (B) 23 It
€) 17 Ff (D) 7.5 AW

From a point P outside the circle the length of tangent to the circle is
15 cm and the radius of the circle is 8 cm, then the distance of P
from the centre of circle is :

(A) 7 em (B) 23 cm

(C) 17 cm (D) 7.5 cm
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9. UH g % any fen Bl fag @ g0 W dieht 7 et Yol i aftea den §
: 4

(A) O (B) 1
(C) 2 (D) 4
From a point outside the circle the maximum number of tangents
drawn is :
(A) O (B) 1
(€C) 2 (D) 4
10. Bg (-5, 12 M@ Rgaghe: 1
(A) 13 (B) 17
C) 7 (D) 6
The distance of point (-5, 12) from origin is :
(A) 13 (B) 17
C) 7 (D) 6
11. A(5, 2), B@, 7), C(7, -4) B e @ a9+ a1t Bigst &1 &wa 8 0 1
(A) 57 T =HE (B) 2% 3HE
(©) o (D) T & P& T
The area of triangle formed by joining A(S5, 2), B(4, 7), C(7, -4) is :
(A) 57 Sq. units (B) 2 Sq. units
(C) O (D) None of these
12. qﬁsinA=%,ﬁlsecA B AN ? 1
13 13
A) — B =
(A) 3 (B) 1
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© o =

If sinA = %, then the value of sec A is :

13 13
A} e B) —
of ®) -
12 I
C) — D) —
c) 5= ©) =
13, 280%0° gy 1
1-tan® 30°
(A) tan 60° (B) sin 60°
(C) cos 60° (D) cot 60°
The value of m
1- tan® 30°
(A) tan 60° (B) sin 60°
(C) cos 60° (D) cot 60°
14. 79 ® B o Wiy &1 egua ® - 1
(A) m:1 BY 1:¢
(C} 1:2% D) 2mr:1

The ratio of radius and circumference is :

(A} | n 3l B} I=n

(€} 15 2x (D 2%: 1
15. TF 9% & AR $ Brear 3.5 i oK S9E O 9 8, @ IOw e & - 1
1903/(Set : C) PIT. O



16.

1T

18.

19.

(8) 1903/(Set : C)
(A) 86.75m (B) 110.25x

(C) 330.75 = (D) ¥ 4 $5 7

The radius of the base of a cone is 3.5 cm and height 9 cm. Its volume
1S ;

(A) 36.75m (B) 110.25 =
(C) 330.75 = (D) None of these

afe P(E) = 0.03, @ P (E 7&l) %1 9H ¥ : 1
(A) 0.97 (B) 0.7

(C) 0.03 (D) O

If P(E) =0.03, then the P (not E) 1s :

(A) 0.97 (B) 0.7
(C) 0.03 (D) ©
e - q
SECTION - B
fae #6243 1% auiE e B 3

Prove that 2J§ is an irrational number.
0% fEEm Tg9e oW $iog e 9% 4 9R -1 8 3

Find a quadratic polynomial whose zeros are 4 and -1.

% i dEaR W 39 yeR R g ® T g Feae R dEr @ 2.6 @ @ gl
W ¥ au o SO O 9 & o Wt @ GEE W A feset oF ggaa B e
% TR S e 3
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A ladder is placed against a wall such that its foot is 2.5 m distance
from the wall, an its top reaches a window 6 m above the ground. Find

the length of the ladder.

20. 3 cos 4A = sin (A - 20°), STl 4A Th DT &, A A B 79 T B 3

If cos 4A = sin (A - 20°), where 4A is an acute angle, then find the value

of A.
21. TF g0 & Fo 21 G B g9 H F 919 F% T 60° F BT ARG HA 8, A
w1 #Ewa ST B 3

In a circle of radius 21 cm an arc subtends an angle 60° at the centre,

then find the area of sector.

g - q
SECTION - C

22. fefafaa e & &q #ifog : 4

b

=Y &

3
y 13
2

6

wlr R

Solve the following equations :

+
&
|
|

—

wir X
(SR
—_—

o
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23.

24.

25.

26.

27.

(10) 1903/(Set : C)
q Hegeli g B AT 180 Bl B WAl F A I FEA H AR A 3
TFI HEAR Bl A Bl 4

The difference of the square of two numbers is 180. The square of the
smaller number is 8 times the larger number. Find the two numbers.

g A. P. & 984 6 Y&l Bl I 96 & X Uedl 10 Y&l & M 240 ¥, o 39 A.
P. 3 n T $T T A IO 4

If the sum of first 6 terms is 96 and sum of first 10 terms is 240, then
find the sum of n terms of A. P.

Rl am fag @ 99 W Wi T Wt el 1 TRl avET Bhil 8, ME Sl
4

Prove that the length of tangents drawn from an external point to a
circle are equal.

T 9 § 6 @, 7 9%6 IR 5 BRI e & U e dfF F § e 3 e
ST ¥ ZH T B AWE BN N WIRHETT W9 PG 39 T P AW T B B
T ST Hig) 4

A box contains 6 red, 7 white and 5 black balls. A ball is drawn at
random. Find the probability that the ball is white. Also find the
probability that ball is not red.
A(1, -5) @R B(-4, 5) B faH ardl 361 S x-38 68 Fgue F fawifiom s
2 7 Rim # g g ® e <t s ik 4
Find the ratio in which the line joining A(1, - 5) and B(- 4, 35) is divided
by x-axis. Also find the coordinates of the point of intersection.
g - T
SECTION-D
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28. T ®IFT 3 A" 132 Bl aen s ¥ o TR 39S, Er ME § 1 Her &W

29.

30.

a7 ol § (R W e # g oW | 7 o o) Ak oeme mE @ 9@
Tt e A 11 Rt/ aver afts ®, @ O teieat # elwa 9w s Fitw
5

An express train takes 1 hour less than a passenger train to travel 132
km between two stations (stoppage time between two stations is not
considered). If the average speed of the express train is 11 km/hour
more than the passenger train, then find the average speed of two
trains.

R #if 5

(sin A + cosecA)? + (cos A + sec A)° =7 + tan® A +cot® A
Prove that :

(sin A +COS€C_A)2 +(cos A + sec 141]33 =7 +tan” A+cot® A

EEr
OR

74 &9 T 999 3 RER 9 6 N7 3 RET # 9 B 60° 7 R 3%
U H TG99 BT 45° B HFR B HAE T PiQ

From the top of a 7 m building the angle of elevation of the top of a
tower is 60° and angle of depression is 45°. Find the height of the
tower.

% frge # = H e < g 4 Ff w5 3 A ok o A @
FOT 45° BN I BT & AHGT OF QX BIS A @ Fife, R e 3

havraﬁ%‘tﬁl 5
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31.

32.

(12) 1903/(Set : C)

Draw a triangle whose two sides are 4 cm and 5 c¢m and the angle
included between them is 45°. Construct another triangle similar to

this triangle whose corresponding sides are = times of this triangle.

TH 24 T B AR 6 W SR B & o F1 REast O e a9 w2
Mo B s A 5

A cone of metal of height 24 cm and radius of base 6 cm is melted and

recast into a sphere. Find the radius of the sphere.

W@ O BERET A 100 W (Surnames) FQ T S S S
oA B SE Bl GEA B I SRAEAT e 1 gel ¢ 5

audt & g |1-4|4-7|7-10/10-13|13-16 16-19
HEAFT @ de 6 30|40 | 16 | 4 4
At & T ol @ dem W AR

100 surnames were picked from a telephone directory and the
frequency distribution of the number of letters in the English alphabets

in the surnames was obtained as below :

Number of letters |1-4(4-7|7-10110-13|13-16]16-19
|Number of surnames| 6 | 30| 40 16 4 4

Determine the median number of letters in the surnames.

Yar
OR

frfoiad ibe 75 fetel Susel & A Siamm (521 ) & ga ad @ ¢

Gnaq._w (ﬂi’f a) 0-20 |20-40|40-60| 60-80 |80-100|100-120
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EECIEG] 10 | 15 | 12 | 21 8 9

TIYHAON T ARG SAGTER ST B

The following data gives the information on the life-time (in hours) of 75

electrical instruments.

Lifetime (in hours) 0-20 | 20-40 | 40-60 | 60-B0 | 80-100 | 100-120
Frequency 10 15 12 21 8 9

Find the mean lifetime of the instruments.
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